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(1) -7 — ( —8 ) + 2 (2) -2 = 6 x (- 9)
@ (= 3)*+ 24 = ( —6 )

(4) 4 (2 x — y) + 3 (x - 4 y)

5) 10 a ®x (- 6 b 2) + 4 a b

© + 20 = 1 o+ 12

(7) (4 - x)(C4 + x)

® x 2 - x - 20 (NE i L2 S W0)

(1) 4
- x = 3.6
7
(2) 6 - 2 x = 3 (7 + x )
(3) { 6 x - b y =15
4 x + 7 v = 41
(4) x 2 4+ 4 x = 12
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it 255
(1) 3 (2) 3
(3) 9 - 4 = 5
(4) 8 x — 4 vy + 3 x — 12 vy
=11 x — 16 vy
(5) 60 a 2 b 2
= -15 ab
4 a b
(6) . 3 + 2 4 3 = 3 4 3
(7) 6 — x °?
(8) (x + 4 ) x - 5)
(1) 4 x = =25.2
X = -6.3
(2) 6 - 2 X = 21 + 3 X
-5 x = 15
X = -3
(4) { 6 x - 5 y =15 D
4 x + 7 v = 41 e
12 x - 10 y = 30
- ) 12 x + 21 y = 123
- 31 vy = -93
y =3
y =3 ZOIZRAL T,
6 x - 15 = 15
6 x = 30
X - 5 ( X ’ Y ) - ( 5 ’ 3 )
(4) x 2 + 4 x - 12 = 0
(x + 6 )Cx - 2 ) =0 x = -6 , 2
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